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Paresh of Patan consigned 200 tiles boxes to Arvind of Ahmedabad at invoice price
fixed after adding 18% on cost price T 1,400 for each box on 1-7-2013. Paresh has
paid following expenses at the time of dispatching the goods.

Insurance ¥ 5,000, camage T 10,000.

Paresh drew a four months’ bill of ¥ 1,50,000, which Hiren accepted and returned
immediately. Paresh discounted it by 18% per annum.

Hiren is entitled to get 4% General commission on total sales and 3% Del-credere
commission on credit sales. Arvind has paid ¥ 3,000 for octroi and T 1,600 for
carriage. As on 31-10-2013 he has sold the goods as following :

50 boxes sold at ¥ 2,600 each for cash. 20 hoxes at ¥ 3.000 cach to Umed on credit.
15 boxes at ¥ 3,100 each to Ukel as instruction given by Paresh. Ukel was declared
insolvent and 80% amount was recovered from him.

From the above particulars prepare account of consignee Arvind in the books of
Paresh.

MYWOR
1 P.T.O.

GujaratStudy.com

wod Apmgierelnn



wod Apmgierelnn

(A) e ¥ 40,0001 15 dat 10 1yl ML

(B)

(©)

- pM-101

GujaratStudy.com -

- sl duay g
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wallAl €35 ¥ 32,0000 e2ell AN A duy by gy
N . 2
sl wusfrusl sufl el daoy w7 4,000 2 10,000

A Hlsqq
UL T

. =TT l-in-“_:
VS A T 1000 4l .
ygaul. ol qll €35 T 50,0001 €] Q3 ¢) T 1,000 ading 4y

Wsel 2udl. Aoaldl 25 ggaell yigqq
GuRl (ol 2uaR sl Ayl %331 vuyAly|
Mohan consigned 10 machines, each at 7 40,000 1o Con
insurance and ¥ 3,000 for carriage. Two machines we
machines sold out at ¥ 32,000 each and insurance co
¥ 10,000. Con51gnee received remaining machines and
¥ 1,000 for carriage expenses. All machines sold out at
amount sent by draft to Mohan,
Prt‘a‘pareﬁoum.‘iil entries and prepare Mohan’s account in the books of Consignee.
Al U4l 2 d A apeqqon gy - c
Answer any two of the following : .
(1) s Hiett (o™i 2sfeaet 2ussi sul s41 i S 20l 6§ 2
AL a1 Aaxal.
Which accounts are opened in the books of Consigner ? Explain with
samplcs.
(2) o 2uslaul s de T 40,000, Gur 4L T 60,000, sl yu-n
Guiz dael T 20,000 dat T 35,0000 A 2sfad wd Ave @ uA
T 15,0001 vzl 2ls 9. A 2 28 2% A W 2isd 5% slu
dl 2isfaut g4 visa sedl 1 ?
If consignee has sold goods of ¥ 40,000 for cash, ¥ 60,000 for credit, ¥ 20,000
on credit as per consigner’s instructions and ¥ 35,000 consignee himself
purchased. Closing stock is ¥ 15,000. If 2% General commission and 5% Del-
credere commission then what will be the total commission earned by
consignee ?
(3)  daust v s Hid 9L dgldd a1l
Distinguish between sales and consignment. t
A sl s waHil 4y dfld Nl wa wle ¢l dl d-l
(et 3l Ad 2R wy § d Aneadl. 2
If the consignee has distributed goods from consignment goods as sample for
advertisement then what will be accounting effects in the books of accounts ?
_RY4WOR

400 34 wuscell duar Wsda wauellzl T 6,000 dar skl 23,0001 vl
se. o Al els 68 IRUAL el dl AL 2l Bad wlal. Wl
W3z [3Hd 2lsmels €500 dun dawt Bad T 650 9.

400 Radios were sent for sales on consignment. Consigner has paid ¥ 6,000 and
consignee has paid ¥ 3,000 as expenses for it. If 68 radios are closing stock then

find out closing stock value. Cost of radios were ¥ 500 and sales price were
T 650 of cach.

Al Ml wiq oty

signee. He paid ¥ 6,000 for
re damage in transit. These
mpany admitied a claim of
paid ¥ 4,000 for octroi and
¥ 50,000 each. Remaining
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2. . . .
(A4) 4l ré&f*““&“ SR As el 6. Al wsdr Bud W 15% aadld anud

HELGL Wsd 6. avd qdel aun AAss sAgrt ¥ wdd T dsmi g

B widl o saand 2w 6. DAl Rowdlu 2l wea wulbasu

AN YR A vy dur 531 7
(@ dl. 1-4-2012 dl. 1-4-2013
\ ® ®
sy [sud 50,000 60,000
TUER] 40,000 35,000
A s 1,000 ?
5z | 30,000 ?

@f 2012-13 gt sl 2 Hrd 8 ¢

i 4 g ol Bad 2 2,20,000-0 W Hsedl ©.
dist il T 8,000 e wRet 54l ©.

vzt 74,0004 weviy widludl .

LAElZINL ¥ 4,000 A YR 524 ©.

AL 3ss dae T 2,50,0007 42 ©.

g4 dau@ 2 3,55,0004 53¢ ©.

w2y val T 3,500 au ©.

sl 2 wRyRer vl W2 25,000 Hisdal ©.

ey (B vl e eisidl ¥ 6,000, wauR-L ¥ 20,000 dul audfleng wd 4R

7 6,000 4sddl 6. U YR 10% 4Rl Al 8.

Shri Hiteshbhai have a branch at Haripura. He adds 15% on cost then sends it to the
branch. Haripura branch deposits all daily cash received into Head Office’s account
in Dena bank at Haripura. From the following particulars, prepare Haripura branch
account in the books of Head Office.

Particulars On dt. 1-4-2012 (¥) On 1-4-2013 })
Stock at Invoice price 50,000 60,000
Debtors 40,000 35,000
Petty cash 1,000 ?
Furmiture | 30,000 ?

Transactions during the year 2012-13 are as under :
Goods sent to branch at invoice price ¥ 2,20,000.
Gioods returned to head office at invoice price ¥ 8,000.
Bad debts written off by branch T 4,000.

(soods retumed by debtors T 4,000.

( ‘ash sales T 2,50,000
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T{)m ’al“ ? 3,55,000
Petty cash expenses T 3,500
Remittance to branch for petty cash ¥ 5,000 by H.O.

¥ 6,000 for rent, ¥ 20,000 for salary, T 6,000 for carria i

: ] » ¥ 0, ge and Octroi are the
expenses paid by head office for the branch, Provide depreciation 10% on
furniture.

AUYWOR

ouaRl A Ayl syaaui 2y 2 N
dutl Ul sl sudlad) Q)4 %*:“3 :’lll"*ll 4D . dl. 31-3-12-0 %

qael ¥ 2,50,000
deteidl 7 4,000
w20l o gl 7 1,00,000
u3-l wls 2 70,000
I ER R . 736,000,
sHaR ? 35,000
eauerl ¥ 25,000
dellg il ¥ 16,000
EETETRAT ¥ 20,000
g viig ¥ 14,500
AP TRUURIT ¥ 2,500
e 4R ¥ 50,000
You el 4da wa ¥1,20,000
quirl wilsdl :

6,000 Wa Wl &, R 75,0000 Ass uet Hwhy ©.
Gurl [otdlini 2u1R duRvILg, AgL--4sat-t Vg dat Wik 384 duR R,

Govardhan agency of Bhavnagar has an independent branch in Bavla. Closing

balances as on dt. 31-3-12 are as under :

Sales T 2,50,000
Creditors T 4,000
Credit balance of H O ¥ 1,00,000
Opening stock % 70,000
Closing stock < 36,000
Furniture ¥ 35,000
Debtors ¥ 25,000
4
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Bills receivable T 16,000

Office expenses < 20,000

Bank account T 14,500

Cash on hand ¥ 2,500

Motor car ¥ 50,000. Goods received from H O ¥ 1,20,000.
Additional information :

Goods of 6,000 is in transit and cash of T 5,000 is in transit.

On the basis of the above prepare Trading Account, Profit and Loss Account and

Balance Sheet.

Tl slSumL By oy 2 -

Answer any two of the following :

() WReb vt Aed g 7 weda anun Rl 58 A @wiy Gewsal W
AxAal.
What is dependent branch ? How are the accounts of such branch written ?
Explain with example.

@) wdlaeudi wan-l e 2 avu 9. v 3 Bad wR 25% gl
aaidl dual yu-i wd e 3o Bad wa dsdl 2l 8. A2 Gl
LR At 2R 25+ B wlal

Ml a3l 225 7 50,000, wvud Hsdd W T 3,75,000, WA WRd
3@ wd T 30,000, wouxl s3@ Ass dwel T 1,50,000, GUR dw
Z 3,50.000. tULRIAN Yd 524 *d T 12,000.

Pratap of Palitana have a branch at Modasa. Goods are send at cost price .for
sales with instruction to add 25% profit on cost. Find out value of closing
stock from the following details :

Opening stock T 50,000, goods sent to branch ¥ 3,75,000, goods returned by
branch ¥ 30,000. Cash sales ¥ 1,50,000 and credit sales ¥ 3,50,000, goods
returned by debtors ¥ 12,000.

() wi-n [eauel 22ks 2 taeRldl el Aluadl dd wwenal.
Explain method of writing branch account by stock and debtors system.

wadi qusiniel]l QR Radl wd ud 6. 2w Radldl 4R doierl wd
sl vl cudl Al -

deeiRldl 13@d-l sl 2 12,000, 2AGAN uzaua-dl sudl T 7,000, ga Al
wilEl ¥ 70,000, 2RO 2w+l sudl T 8,000, elddlit Ysu X 10,000, wile
W W ¥ 2,000, ss WAl T 22,800, AUERIA Y5l T 34,800, WA w2
? 1,200, 2Rl uzaua-l eudl ¥ 65,000, g ALY dwA T 2,75,000,
dellg 4l uzaadl sl 2 12,000 - el udl T 40,000, ULRL WA 3y
Uss € 275,000, Luerld wld qaq T 5,000, HyR sl wavuy ¥ 3,500,
SULRIM WRd 34 g T 5,000, dellddl-n M 23,000,058 de ¥ 50,000. 7
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The following details are from the books of Ajit. On the basi ] .
out closing debtors and creditors. ’ e basis of this details find

Opening balance of creditors ¥ 12,000, Opening balance of bills payable ¥ 7
total net purchase ¥ 70,000, closing balance of bills payable ¥ 8,000, bilis o
paid ¥ 10,000, purchase goods retumn T 2,000, cash purchase ¥ 22 .800 cl::{ﬁb]e
paid in cash ¥ 34,800, discount received ¥ 1,200, opening balat{ce ;f v:lebllors
L4 65.,000, total net sales T 2,75,000, opening balance of bills receivable 7 |2 03(?
closing balance ¥ 40,000, cash received from debtors ¥ 2,75,000, discount allowed
¥ 5,000, bad-debts allowed T 3,500, goods retumn from debtors ¥ 5,000, cash
received from bills receivable ¥ 3,000, cash sales ¥ 50,000. T

UYWOR

3. (A) Al W wiadi Ausrid DA Fodl 2dd 8. B WUR dL 31-3-20]34

7

v
¥
i-

DM-101

Ay Y2t udi i lls el dur sl :

Brasd-gat AL 1-4-2012(7) AL 31-3-2013 (%)
s 25,000 35,000
? tael 40,000 50,000

sHyz 40,000 ()

delRl 15,000 20,000

58 Baas 5,000 4,000

Q el waerRl -

gateizl waell qda 2lss ? 1,61,000

dpielzld Ysad 25M ?1,16,000

wiilBa-u vl T 48,000

s s ¥ 10,000

il u3xi qwRiAl 34 arl ¥ 20,000

s qwel ¥ 60,000
2lss wdlel T 42,000
daieial il wdd 219 ¥ 2,400
tAULRIA UM A4 ¥ 3,000

wile e Yzd ¥ 3,000

e MAa WRd ¥ 5,000

QA T 4,000

sHu? w2 wuRl 12%

6
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Followi j
Wing details are from the books of Mukesh Patel. On the basis of this details
Prepare final account for the year ending dt. 31-3-2013 :

;;s;ts — Liabilities Dt. 1-4-2012 (%) Dt. 31-3-2013 %)

25,000 35,000
Debtors 40,000 50,000
Fumniture 40,000 W)
Creditors 15,000 20,000
Cash on hand 5,000 4,000
Transaction during the year :
Cash received from debtors T 1,61,000
Cash paid to creditors T 1,16,000
Office expenses % 48,000
Cash withdrawal T 10,000
Capital brought in cash during the year ¥ 20,000
Cash sales T 60,000
Cash purchase ' T 42,000 Q
Discount received from creditors T 2,400 %
Discount allowed to debtors 73,000 S
Purchase returned ¥ 3,000 £
Sales returned T 5,000 g—
Bad-debts T 4,000 Lr<'~
Depreciation on furniture 12% p.a. g

i) o A A9t oL el ;|

Answer any three of the following :

(1) sl feauell valt ved g 7 axanal.
Explain single entry accounting system.

(2) a3+l 225 T 40,000, W€l T 2,00,000, ¥UvR w15 T 80,000, 51U A5l €
Y Bud-u 18.5% eld di ga due 3eg ?

Opening stock is T 40,000, purchase ¥ 2,00,000 closing stock ¥ 80,000, Gross
profit rate is 18.5% on sales then what will be the total sales ?

(3) sl (el uglaniel (el Gsauoll walt 3o Rsauel avlladl @l
seti-l vedl [@adi 3dl fld wlwy d Gelsre wd auwmal.

When we convert single entry accounting system in double entry accounting
system how the remaining details of debtors can be find out ? Explain with

example.

7 . PuTun '
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(4)  WHdl (vl valadl saleit wwual
Explain hmitations of single entry accounting system
(M) AR AR sl ang A4 Koy waasll esia
el Al 2 12,0001 4l wedl.
Ll My dReRA 821 531 =yl
Give journal entry and posting of following transactions in reles ant acoounts.
A bill receivable of ¥ 12,000 is received from a debtor.

Said bill receivable is endorsed to a creditor.

I A Al aws ﬁ[‘m R A8 s A R B 6. A dseu e

DM-101

ML @l wed dba duelal Ry 2110400 i el WYR WA @

Mle Ml T 25,000, 4517 T 42,000, gsiqt Wl 25 T 18.000, Un WHE L3
(A4 50°0) T 10,800,

MRS st serenRid Q8 uan 3 woRl T 4.200

ol Wl 2,200
MEIRLER. 1L ¥ 9,000 ¥ 15,400

AN WY etire A Ml Y wdt @A Al adll Ayl Gua ol wrasd
widl adl. 19 43 vidleard 8l s, dsidi wuas T 25,0004 Gud sz,
HU WHY 25 WR 22,000 vl d Y Bad 34l asil suoe v weg
dur s 7
Shri Narad Mooni has fully insured against all loss by fire. A fire occurred on part

of the premises and the insurance company settled the claims for T 1,10.400 as
follows :

Plant and machines ¥ 25,000, Building ¥ 42,000, stock destroyed T 18,000, stock
destroyed (50% of value) T 10,800.

Consequential loss:  Wages paid toretain men ¥ 4,200.

Incidental outlay 32,200
Loss of profit ¥ 9,000 T 15,400

I'he plant and machines lost were old and had been enurely written off It is
decided to purchase new machine. The building were repaired at a cost of Z 25,000.
By expending ¥ 2,000 on the damaged stock he was able to sell it at the full price.
Prepare Fire Claim Account.

AYWOR
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4. (B)

(B)

©
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W2 oll Al el Bt 3l 214 sluauni 2l 7 Getest Al axwal.

How you w SCortyi .
your C}IGU ‘-\bould ascertain the value of wsured goods burmt by fire for presenting
aim before the insurance company 7 Fxplain with example.

? AlA 2 2,70,000 Al 81l sl Wl Q. oudull Wy vt Wyl
-)rtt. 31-12-2012-1 A YRU Ul e AW T 21,00,000 s A Wl 8l
T 2,10,000 wdl. 8t-rqsauet Wid T 13,500 el WL GUIRAeH S s, ®

51 23,000 Rur WAl Il dani sl «ll.

dl 1-4-20130 Ay sua qoll, 34 Al dedls ughl wedl ad. s«
dl. 1-4-2012 41 30-6-2012 Yl JAR T 0.09.000 g a1 4y g a 20134
AR Ml daugt T 2,10.000 o Al 31-3-2013 LAY Q1 N AR wag
QW T 22.50,000 8. at 1-1-2013 W Gl el waladl 201340 =

W 3% ay 45l yag. sl s dur sU

Shree Joshi took out a policy of ¥ 2.70,000 for loss of profit, period of indemnity
being three months. Turnover for the year ending 31-12- 2012 were T 21,00,000 and
net profit T 2,10.000 after charging T 13,500 for the fixed charges. Insurance is not
taken for fixed expense of ¥ 3,000. GujaratStudy.com ‘

1-4-2013 and as a result some of the activities came to 2 stand
during 1-4-2012 to 30-6-2012 was ¥ 6.09.000 and for the same
2 2.10.000. Sales for the year ending 31-3-2012

Fire took place on
still. Sales of Josh

three months of 2013 they were
were T 22.50,000. As and from 1-1-2013 as a result of
production, profit of 3% more would be realized on sales.

improved methods of

Prepare a statement of claim.
WUWOR

2oL slat-tl fsauedHl wuld due wed 4 2 a4l Aradl 3l A R

21d 6 d Rad axeal

What is “standard tumnover’ in the accounts of fire claim ? Explain in detail that
how it can be ascertain.
Qd-uuiell siSuet sl Yot Wl

Answer any one of the following :
(1) 2 cududl ual 6 wiatedl, Wl el T 20,000, ulls w2 80,000 2

sudud] gl e dust ¥6.000 Q. dl opuda dwe deg iy ?

7 80,000 and turnover during 1n
short sales ?

wbuls sl el
aal kedl i 8 7

For the consequential loss policy what

period of indemnity granted ?
P.T.O.

9
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5

If the indemnity period is for six months, average sales ¥ 20,000, annual sales
demnity period is T 6,000, then what will be

oAl awal ay ual w Ased st

is the minimum and the maximum
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8 Al ler weelen wladl ay, faseul widen @, ) Raey Wl Al ARl xu
weastl s Lelal (o A W) 14

Mare than e answots are given for each queslion given. You have to select correct one
with necessary calculations or justification for it, (Any seven)

(e willbel weed o gt €25,000 42t Wss w2 ssenr, a-ll uzui Gt
el44 ¥ 2,400 wiAd wlvieHl € 2,000, wdt dl YRYRQ iyl

Fom) 12,400 (b) 14,800
(€) € 28400 @) 15,000

Duting the year 11 () has sent T 25,000 as petty cash. Opening balance of petty cash
was € 2,400 und closing belance was ¢ 2,000, then the total expenses of the year

(0) 12,400 (b) ¥ 14,800
(¢) € 28,400 (d) 15,000

(2) misladisl mdvd w2 sisddl vl wanidl o 2 2,000l ud Ay adly
A aly el |

\
P!

v (1) et vied Guie oyl

e (b)  wusrud wud Gy yal.

(e)  del s Al wal 4dl,

() AsaHIe wid Guir i o o oy v,

The consignes has distributed samples for ¥ 2,000 from consigned goods then
(#)  Advertisement account debit

(b) Consignment account debit

(¢) No journal will be
(d) Consignment account debit and credit both sides

(3) dt 1-4-20120 2l s(Ha:-0 eudl T 1,00,000 8. 20 s weuAd dL 1-7-2012
i 21% ulsAumi 20y 9. dl 31-3-20130 A% 15% AW ) DA wgfumt

Lottt Al v sluvl wawl dedl wy 2 |
S (a) € 15,000 (b))  T30,000
(c) €7,500 ‘ (d) 217,300

Furniture balance as on dated 1-4-2012 was ¥ 1,00,000. This furniture was sent to
branch on dt. 1-7-12. What will be the Depreciation on Furniture in the book of
branch at 15% p.a. by straight line method as on 31-3-2013 ?

(a) TI15,000 (b) ¥ 30,000
(c) T 71500 (d %17,300

DM-101 10
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;l;.;:l *‘ﬁ\li ‘t?;&?‘gi?é:&;lg : 1,80,000, ¥R+l 22ts T 10,000, sl 51 duwi-u
(@  ¥2.10,000 ®) % 2.00,000

(©)  ¥2,50,000 C (@) il dlsye Al

What will be the total sales if opening stock ¥ 30,000, purchase ¥ 1,80,000, closing
stock ¥ 10,000, gross profit on sales 20% ?

(@) % 2,10,000 (b) ¥ 2,00,000

(©)  ¥2,50,000 (d) None of these

[ wmt W2 ey 2l vug

(2 wa-fiasd vudl 89 6. (b) Hdl vuct 24 .

©) 3wy Wy ¥g Y. (d)  A5l-gsAA vdL B .

For independent branch the account of H O is like

(a8) real account (b) capital account

(¢) nominal account (d) profit and loss account

2L 1L 56 Bascl w2 ae 2wl § 2

(a) ety [(dsal

()  vardls Basdl

(©)  ardlas fasdl

Fire insurance provides cover for

(a) intangible assets

(b) fictitious assets

(c) tangble assets

ALt Hda Al del T 50,0001 M ALY, T 50,0000 e GUIR,
% 15,0001 e Hadsl-l ya-uel Gur d3d ©. o dd 4% 2wl 14 3% wel
LS HAQ WA €ld dl d qadl wiot AE visd Wy,

(a) ¥6.500 (b) ¥1.800

() T4820 (d) wuntiefl Asust Al

The consignee has sold consigned goods of ¥ 50,000 for cash, ¥ 50,000 for credit
and credit goods sold as per consigner’s instruction for ¥ 15,000. 4% del-credere
commission and 3% general commission is receivable, then total general

commission will be ___
(@) 6,500
) 14820

(b) 1,800
(d) None of these

11 P.T.O.
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a6 sl derdulni sua s #ud 6. PR vl Hit

AL Wil ld .
() QRAERl, AER]
) 2UAss Aqa, Al
() vt iy, Basdl
(d) il vlsywt 44l

In pure single entry only
accounts are kept in ledger.

is kept of subsidiary books and only

(a) creditors. debtors
(b) cash book, personal
(c) purchase book, assets

(d) None of these

duezid dwe 830 53 wulddl Aelgdl sRiu AR
- 4 g wHL A

Ao BURM

(a) deaeiRl, taerl )  Aelgdl, deeRl

(©) el doterl (d)  tauerl, deflgdl

If bills receivable is endorsed to creditor and it dishonoured then
will be debited and account will be credited.

(a) creditors, debtors (b) bills receivable, creditors

(c) debtors, creditors

account

(d) debtors, bill receivable
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